Pastasay nEAdoD Paaessy JSiiddo)
lzzl
@ aux 1 w0 soY (-
0=
N a
woneonydus 10§ v 1 8S—€£—16 .
‘ [4 _<_ 'saSed g 30 s)s15U05 durjaping Supprew sIgY, a'N
6C—— =
€€ 16
4 (4
TORNIBSqRS 103 YO 67— hlwm - ﬁlw L
, It €l 791
(€)  woy0=9+4g9 +@101yoT uonenbo oYy SY (=7 — A€ — X/,
3 £ £
uonenbs 10y VO A x 7=
€ : 001 S3IVIN
aM[eA - 2 10) VO — =2
6T~
wuzod yo wonmInsqns 10§ VoI v @i ¢
L
O+xul =4 -
WOIpRI3 105 VO 1 2 = QU] 91} JO JUSIPRID
L 1971
[4 z .2z
@ AL &=
4 10 ﬁl L L u =d
AL y+L olte) = o — ' . -
© 1omSUE 10} VO | Syran oxenbs 67 = ALVOIALLYAD YOINAS
T 3
uonmmsqns 10§ yo1 88X 85X = TYNOILVN
BOULIOY IO} ¥ | Qxme Bt T N
@ 206 = DgO ™ : %\. o i LR ow,.,
I~ 10§y = W U LIOTANOQL. o “a
L € “ B T T T et B X
1onpoid 10§ v | = X 7= OHIA] X Ofp o1 w . BN e - m
2 L w0 L ISALNOWWOD - . . . =m
e 105 1 == ey I N A
- m.oL T e | ZH.ﬂﬁ—, _A.,‘D, ; .7,_MM¢_> o s
TonMINSqNs 10 Vi ﬁ = D4 Jo jusipeIn R ‘Hmﬁ .mv U e T e T
TomSTR 10 VT mu S N o TISOLLVWAHLYW ~ ..
/Wu ﬂ.uvu uuu e as ﬂuﬂ E R ﬂ u.l-u EE R .u.u.wl..,.l.....ﬂ..ﬂ ﬂ E uﬂ HILW\
TonMIISqns 10} V1 0—¢ -0 jo e .
—L [
) Iomsue 101 VD1 &p = N
TONMYSANS 103 V] =04 L
g BomsTE 10] YOI sp = VIOId4dv HINOS 40 J11gnd3ay f
- suwireda( jeleN-nin7em
wonmnsqns 10y v {0-)+ (o-9} =0g Il HORZNPT Jo Jusuiy ak= Zco__meUSUM ,
I NOLLSHND )
L10T 2unf 3551 UOWMOD)  mapmy) SUDEEN-1] opeis Zd / sonewmonyely
4

TS LT b SHiwww :NO




4

Copyright Reserved

. 3
Mathematics / P2 Grade 11-Marking Guideline  Comumon Test June 2017 Mathematics / P2 Grade 11-Marking Guideline  C« Test June 2017
, 223 W ,
QUESTION 2 = Angle of inclination of PQ
- =80,54° [opp. sides of parm. PQRS are parallel.] 1A for PVW =80,54° ﬁ
211 : PS =/G+17 + (a—4F 1A for substitiition in distance ] . : |
| formula tanPWT =mype ”
. | Al6+a” —8a+l16 = 2013 1A for equating to 24/13 _ 5-(3) ,
3244 —8a =52 1CA for squaring both sides —2-4 4 |
a*-8a-20 =0 1CA standard form -2 1A for my === |
(a-10) (a+2)=0 1CA factors N 2 i
PWT =180° —53,13° . 7
a=100r a=-2 N 1CA for size of PWT |
, ~a=10 o) =126,87 |
212 My = Mgy 1A for equating gradients | QPR=PWT-PVW  [ext. £ of APVW] 1CA for subtracting :
17 10 =126,87" —-80,54°
S!&H 2 1A for substituti =4633° 1CA for answer
4 -3 for substitution . )
=3 224 | Q(-4~7) 1A for—4
6_2 1CA for simplification 1A for—7
4 -3 @
61-18=6 21
r=2 1CA for answer
OR OR
Mpg = Mpy 1A for equating gradients
17 h
24 |
10—-4
i 1A for substitution
4 t+1
Ed
6_ 2 1CA for simplification ,,
4 t+1 i
6t+6=18 ”
=9 1CA for answer
i (G
221 | | _x+ (=2)
1 2 1A for substitution
x=4
1= »+3 1A for substitution
2
| y=- @
222 | tanf=mg 1A for tan @ =mg
wng =223 —3)
6—4
— [ 1A for 6
8=380,54" | 1CA for answer
(3)
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QUESTION 5
51 1B, =90° [line from centre to midpoint of chord} ISIR
R, = 90° [radius L tangent] 1S IR
’ -~ OPQR isacyclic quadrilateral [converse: opp £s of cyclic quad | 1R
are supplementary]
OR | OR
B =90° [tine fromcentre to midpoint of chord] 1S 1R
| Wu =90° [radius L tangent] 1S 1R
~.QPQR isacyclic quadliteral [converse: ext. £ of acyclicquad = R v
opp. interior angle] 3)
521 | RK=NM [opp.£s of pam] . 1SR
=x
E =M  [ext. £ of cyclic quad] 1S IR
R=E  [both = M]
KN =NE [sides opp.=angles] 1S/R
- @
522 | N;=E, [alt. £'s; KL || MN] 1S 1R
MEFN is a tangent to circle KEN [converse: tan -chord - theorem] 1R
_ . 3)
523 G=M [£'s in thesame segment] 1S1R
=x
=K [proved] 18
KL =LG  [sidesopp.to=angles] - 1SR
)
[16]
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QUESTION 6
61 | Q=R ({tan-chord-theorem] IS IR
=T, [given] 1S
PT}SR [correcsponding £'s are equal} 1SR
#
6.2 PQ=PS [2 tangents from same point] 1S/R
§, =4, [£'s opp to = sides] 1S/R
=x
§,=T [both = x] 1S
TQPS isa cyclicquadlateral [converse: £'s insame 1S/R.
segment ] 4)
63 | 1,=Q, [£sin same segment] 1S IR
=x
L=Q  [eiven] s
1 =T 3)
~ PT bisects STQ {11
TOTAL: 100
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